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SECTION A
le choice questions M CQs) of 1 mark each.
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" @ "
. ctly y 0 : (d) at most two
' = 9 and 3x + by = 18 represent parallel
if a =

+ )

y

Gl S =

(b) 3a=2b S. s
(W ab=6 5 ab=6

A.P. whose n'h term is given by a_ = 3n + 7,

P.T.O.
(b) 125
Lg)/ 10
¢ equation whose roots are (2 + V3 )and (2 - V3 )is:
x24+4x+1=0 &qugzu

=0 (b)
@ d) x%2-1=0
Prodmer = |
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-, then the value of gg%m% IS : :
N " S\ nO+ osd tf%'
(b)) = wno-—tto B
G P
7
d) - 5

Bon --;_--,,;. the pomtsP(-% 5) andQ( ;. ) 1S :

®

ire, . AF b= BC = 10 cm. If AC = 7 em, then the length of BP

20-2% ="

2=13
wx= (5

10.
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11. In the given figure, AB is a tangent to the circle centered at O. If
OA = 6 cm and Z OAB = 30°, then the radius of the circle is :

or = & 2in30

=
(b) 3J3 c¢m
(d) J3 em
(b)  cos 60°
(d) sin 30°
B(  ,_» . A DEF, —3%:;—% Which of the following makes the two
': : ?
/D vw/ /B=/D O
ZE (d) LA=4F

The 11 term from the end of the A.P. : 10, 7, 4,
(a) 25 (b) 16

Jor -32

15.
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16. In the given figure, AC and AB are tangents to a circle centered at O. If
Z COD = 120°, then « BAO is equal to:

17. Which of the following numbers cannot be the probability of happening
of an event 7

(a);: O 1< msve ‘ )

-
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~J

(@ 007 (d)

ery term of the statistical data consisting of n terms is decreased by

), then the mean of the data :
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l 19. Assertion (A): If the points A(4, 3) and B(x, 5) lie on a circle with centre

O(2, 3), then the valueof xis 2. T @
Reason (R):  Centre of a circle is the mid-point of each chord of the
circle. e

20. Assertion (A): The number 5" cannot end with the digit 0, where n is a

natural number. ;% @
Reason (R): Prime factorisation of 5 has only two factors, 1 and 5.
o
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21. (a) The line segment joining the points A(4, — 5) and B(4, 5) is divided
oint P such that AP : AB = 2 : 5. Find the coordinates of P. -
C+ YeES ‘ )

H equidistant from points A(5, 1) and B(1, 5). Prove




Kota, Rajasthan

CDRE_ A Premier Institute for
ACADEMY |
Enhancing ability to learn & Express JEE MAIN | ADVANCED | NEET | COMMERCE | 8th 9th 10th | CA Foundation

Use link given in description to download this PDF
SOLUTIONS : 10th CBSE MATHS 2023 STANDARD SET 1 CODE 30/5/1

22. In the given figure, PT is o tangent to the circle centered at O. OC 1s
perpendicular to chord AB. Prove that PA.PB = PC* - AC?

P(’l__ ﬂ(’ig @C_g() (PC“\‘M)
(pa) (PC+ 8C)

= PA «PB
B _ecC
Gate
Using prime factorisation. find HCF and LCM of 96 and 120.
A6 = agxa, 120 = 22 X3 %S HCF =2 X3 = 2U ;)b"
LC M a" BAE = ve

Find the ratio in which y-axis divides the line segment joining t

5.—6)and (- 1. — : 5
( an 1, — 4). % \

=2

e points

e
(S;G) (0,3) (=\y—4) QM% P&""— ov?) \0'" A i<

1S, (€ Y)
ole |- (0:‘:3) vdes the Uae 5"-@- inb wallo W)
—K tS
5 Qu "0 eeg
bl

e

(a) If acosO+bsin0=m and asin 0 - bcos 6 =n, then prove that
% a®+b%=m?2 + n2 Square A odd
4' o8

(b) Prove that :

,‘secA 1 secA+1
e — — = P2 cosec A
Vsec A +1 \/secA—l




Kota, Rajasthan

CDRE A Premier Institute for

ACADEMY .
Enhancing ability to learn & Express JEE MAIN | ADVANCED | NEET | COMMERCE | 8th, 9th 10th [ CA Foundation

Use link given in description to download this PDF
SOLUTIONS : 10t CBSE MATHS 2023 STANDARD SET 1 CODE 30/5/1

= 25 & A oo +b2i\ine = m ————®

e

Prove that V3 is an irrational number.

OR
The traffic lights ai three different road crossings change after

. .'\

~ every 48 seconds, 72 seconds and 108 seconds respectively. If they
~change simultaneously at 7 am., at what time will they change

j:‘o sther next 7
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b)

Lemiyp, 92, Vo) e ?

UR+ 0'xAa
32 = g% xa*

\ 3
Leme 2X3 = \6r2%7
= yan

U322 Secondd = 192 - ", -\ |2
GO GO

= 1’\'\-(’(‘ |2 Cec .

“‘pth term of an A P i« q and q“‘ term is p, then prove that its nth term 18 :

(P+qQ—n). Q = a+(P-1d — 'SQ)*@-—) ac- 3 = Q%P
Pz arle-Nd -5) q,+p~\-\'(no\)(~\)

28. (a) In the given figure, CD is the perpendicular bisector of AB. EF 1 = AN

CF FG 4
perpendicu] : meitec i) P »
ular to CD. AE intersects CD at G. Prove that — CD - DG FPtq9-n
B
E
& Fa D
A

OR
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(b)  In the given figure, ABCD is a parallelogram. BE bisects CD at M
and intersects AC at L. Prove that EL = 2BL.
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el () AbME = Ao mMmB ( ASA)
=4 Em =-MB | DE= BC CCPCT') .

(Y aneL » aceu (AR, x=x . 4=

29. Two people are 16 km apart on a straight road. They start walking at the
same time. If they walk towards each other with different speeds, they
will meet in 2 hours. Had they walked in the same direction with same

speeds as before, they would have met in 8 hours. Find their walking
speeds. 7 SEmlihr B22km|hr

:




Kota, Rajasthan

CDRE A Premier Institute for

ACADEMY .
Enhancing ability to learn & Express JEE MAIN | ADVANCED | NEET | COMMERCE | 8th, 9th 10t | CA Foundation

Use link given in description to download this PDF
SOLUTIONS : 10th CBSE MATHS 2023 STANDARD SET 1 CODE 30/5/1

i . "
B ‘. “4 »
' i _ ) :
L ot 3 "~ -
J.d X ' - - — y p
, ‘ Q § ‘..— TR . c 4 o
» : \ .
L J &




Kota, Rajasthan

LCORE A Premier Institute for
ACADEMY .
Enhancing ability to learn & Express JEE MAIN | ADVANCED | NEET | COMMERCE | 8th, 9th 10t | CA Foundation

Use link given in description to download this PDF
SOLUTIONS : 10t CBSE MATHS 2023 STANDARD SET 1 CODE 30/5/1

31.  Find the mean of e following frequency distribution :

oo Tisw o0l ol - o[-
D el te e i
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32.  One observer estimates the angle of elevation to the basket of a hot air

balloon to be 60°, while another observer 100 m away estimates the angle
of elevation to be 30°. Find -

(a)  The height of th |
ght of the basket from the ground. ¢® {3 M

(b)  The distance of the basket from the first observer’s eye. \eOo M

.___—d

(¢)  The horizontal distance of the second observer from the basket. ‘0'0 &

 —— e~
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33. (a) A tnangle ABC is drawn to circumscribe a circle of radius 4 c¢cm
such that the segments BD and DC are of lengths 10 ¢cm and 8 ¢cm
respectively. Find the lengths of the sides AB and AC, if it is given

%3, that area A ABC = 90 cm?.
3
A
A b

BT =

O

(b)

Two circles with centres O and O" of radii 6 em and 8 cm,
respectively intersect at two points P and Q such that OP and O'P

are tangents to the two circles. Find the length of the common
chord PQ,

AN y5
\//
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33

Conthrucion: Join OP,08 (P8 are ponk &t Cantact)
Join p#,08,0C

e (b Aee) « hr(Po® + fr(Boc) + fr (o)

OO e> & HXL> .

) 3
0= lzfz;r*(x-ﬂo) +}2}!ﬁ(le) T H_u) (‘K"{”Q)

= 90 "= &L‘k+ln+\2>+’x—§8]
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A train travels at a certain average speed for a distance of 54 km

and then travels a distance of 63 km at an average speed of 6 km/h
(,cy more than the first speed. If it takes 3 hours to complete the
¢ ,
L journey, what was its first average speed ? 36 )by

OR

(b) Two pipes together can fill a tank in L hours. The pipe with

8
larger diameter takes 2 hours less than the pipe with smaller
diameter to fill the tank separately. Find the time in which each
pipe can fill the tank separately. 2hys ; S hs
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OR

'S __\__,_L) ~ |
@ \ %xt2 e

2

\S

r-_g =y QO0X 430:812'-\-\@%-

Lax ——’Tx—-\S' O
U —19% 18X =& =0

t{z.(‘»(—g)-*:S(%—-") ~Q
T2

‘.

is tied to a peg at one corner of a square shaped grass field of side
2 by means of a 5 m long rope. Find the area of that part of the field

& ich the horse can graze. Also, find the increase in grazing area if
ength of rope is increased to 10 m. (Usen=314) 13.6Cm* , S8 .&¢ ML
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36. A golf ball ig . ,
Spherical with about 300 — 500 dimples that help increase

its velocity whila :
;/} — in  colours allle In play. Golf balls are traditionally white but available
4 , 0. In the given figure, a golf ball has diameter
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Based on the above, answer the following questions :

(1) Find the surface area of one such dimple. @ 0 2% Cm™ 1
(1) Find the volume of the material dug out to make one dimple. 1
O g\ 6 e
(1) (a)  Find the total surface area exposed to the surroundings. 2
0 2Y X Cmi-
Giid (b ettt v olarrie of e Gl rall. LN e =

-2

A

.)/\Jh'( \a\ra,a g[*\'\ﬂl\e M:P\'\M‘{‘ ( am ple)

N = 2mm

::O‘Q-Cm

AN Sians

B 36

no o{. chmp‘o&c <1 ol

(I.) CHA o—} .0\1(—‘. Syt cllméh = QAxvy -
| = &Xﬂp@-&i‘

= Anay O'0Y
= 0'0B W Lm”

() matesal du-ca,w'\-o make onedimgle = Vol of- One hamisphere

= 2 3
37\'Y
= ‘8 3
- =7 (02
3 ( )

X
= %0008 = 0O\(x
3 -—"3 Ch}
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. 3
Q“) a  Toll ﬁ,w\%quz. ang.a exposed o gmmm&t\ua,
- TS A of Sphame — 31 A 4 315 ()

= UWw RQ‘-}- 3\S ﬁl

= w [ulay+ sx -2y ]
e K [_ 7. 64 + lZ-C] o

@%- = 202471 Upt

LAY

3 § :fin
—_— . ’ - %x—
(b Vol of folfball = %W 8 -
3 3}
= x {.‘.“i(r\) — 210 (0+d)

3
« r [12:930- 1068 ] = W28 ¢ ® Cm

Case Study - 2

I I

Making Purple : Spin each spinner once. Blue and red make purple. So, if

one spinner shows Red (R) and another Blue (B), then you ‘win’. One such
outcome 1s written as ‘RB’
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Based on the above, answer the following questions :

. . B. RG,LR 4R, G4 YB1G
(1) Last all possible outcomes of the game.R L e 1

(1)  Find the probability of ‘Making Purple’. ‘/ 9 1
(m) (a)  For each win, a participant gets ¥ 10, but if he/she loses.

he/she has to pay Z 5 to the school.

If 99 participants played, calculate how much fund could the
school have collected. Re: R0 9

OR

(b)  If the same amount of ¥ 5 has been decided for winning or

losing the game, then how much fund had been collected by
school ? (Number of participants = 99) Ps. 20 &

‘
w A of-— Al Htie owdc ames

RR, R8, RG, GR, GB,GG,YR-YR,ye. (9 cuhomup)

(\\) \-)(mo.\dn.ca, Pb\h—ﬂ&) = W =k (4 <-
N (Tdr=u) 5 =

o ruwdcoonn = R B
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(1) Which of the following types of graph represents p(t) ? 1

y

height
!

-3 Lime

(m) (a)

What would be the value of h att = 2

— G . Lo below waltu |eved
OR

e dolphin covered before hitting

(i1)  (b) How much distance has th

| 5%
i the water level again ? Q__'_S/

2
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| d) ZoyoeA O} PGQ"KM"‘:‘QQ +

)
oot —\64k =0

Q‘) f) , because, Y=o al L= o S




